
MOTOR : GRUPO TAPA CARTER LADO EMBRAGUE	
 

GRUPO TAPA CARTER LADO EMBRAGUE 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

 

Ref. Título Código

1 TAPA CARTER LADO EMBRAGUE 40-15A1011310

2 JUNTA TAPA CARTER LADO EMBRAGUE 40-15A1011319

3 COBERTOR DE EMBRAGUE 40-15A1011331

4 ABRAZADERA BOBINA IGNICION 40-15A1034931

5 VARILLA NIVEL DE ACEITE 40-15A1015611

6 LEVA DE EMBRAGUE 40-15A1022810

7 RESORTE 40-15A1022821

8 PERNO 40-15A1022825

9 PLACA DE EMPUJE 40-15A1022826

10 SOPORTE PLACA EMPUJE 40-15A1022827

11 TORNILLO 40-15A1022851

12 RETEN 40-15A1022830

13 RETEN 13,7 X 24 X 5 40-15A1027190

14 O-RING 40-15A1022823

15 O-RING VARILLA NIVEL DE ACEITE 40-15A1015612

16 TORNILLO M6 X 16 40-GB/T819.1

17 TORNILLO M5 X 12 40-GB/T69

18 TUERCA M6 40-GB/T6170

19 PERNO DE GUIA 8 X 12 40-15A1011318

20 TORNILLO M6 X 40 40-GB/T16674

                        1 / 3

https://www.cprrepuestos.com.ar/images/stories/virtuemart/product/grupo tapa carter63.png


MOTOR : GRUPO TAPA CARTER LADO EMBRAGUE	
 

Ref. Título Código

21 TORNILLO M6 X 40 40-GB/T16674

22 TORNILLO M6 X 40 40-GB/T16674

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                        2 / 3



MOTOR : GRUPO TAPA CARTER LADO EMBRAGUE	
 

 

 

 

 

 

  

 

 

Powered by TCPDF (www.tcpdf.org)

                        3 / 3

http://www.tcpdf.org

